M-2022/GS-III
HHE/Roll No.
)"' wlitemefi sraeT aTeReT agt for| gt
A Candidate should write his/her Roll No. here. i :
ot WAL R : 3 ) gfga gst fraem: 7
Total No. of Questions : 3 No. of Printed Pages : 7
M
s M-2022/GS-III.
i R AT
L ‘ GENERAL STUDIES
}. T woH-uA
A
f s THIRD PAPER
.. T : 03 e | [ Iifs6 : 300

Time : 03 Hours ] ' [ Total Marks : 300

T D e

T 1. TN N 30 SeTmi 393 B e T H S Afiswan 15 W 20 ISy
! 1 & B weft T Er 81 T T 03 (7)) 3 w6 Rl (3x30=90)

D o
e

Que. :1. This question contains 30 very short answer type sub-questions.
Answer each question in maximum 15 to 20 words. All questions
are compulsory. Each question carries 03 {three) marks.

B : (1.1) “Sal <l IB1E T2 & S B hl |7 T I8 G TEl € I e ?
“Energy has the same unit as that of work.” Is this
sentence true or false?

P T : (1.2) ﬁﬁ.ﬁmﬁﬁwm%‘gw%m—wﬁwﬁ%m
/ -3 At 87 | '

What is the speed of light in vacuum? Is it differént for
different medias? '
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: (1.5) wifea o S¥fi-wfl TR (ahfiegm) =t @ st 27

: (1.3) forega am <t THoTEo smé_rm%?

What is the S.I. unit of electric current?

: (1.4) TERES uied % g S

Give examples of chemical change. .

Why is morphine sometimes referred to as opiates?

: (1.6) M-I (eT) | goiagidl i Ifesan g w1 grt?

What will be the maximum number of electrons in
M-shell (orbit)?

: (1.7)  Ffesie ey it Rt few wered 6 Bt €2

Most of the bacterial cell ‘walls are made up of which
substance?

: (1.8) fopvem = afofs iRy

Define fermentation.

: (1.9) 70S W& 80S Tgasg # ‘S’ ¥4 guifen €7

What does ‘S’ indicate in 708 and 808 ribosomes?

: (1.10) BEfrs Freget o gl 37

What is hybrid computer?

: (1.11) 320 3R 98 158 99 (WWW) o =T 3T 27

Differentiate between Internet and World Wide Web
(WWW). ‘ '

: (1.12) TRt TR 3171 faarermen! sl SFept 3R danedi & fou wwe Ragh

TES WEH Y ¥ WRA TR 1 HH-TT 9t 37

Which portal provides a single window access to the
information and services provided by the Indian
. Government for citizens and other stakeholders?

¢ --41

: (1.13) T 9 %l U SR hep W, Th T ST 3 Y Tifirehar a1 gifl 7

What is the probability of getting an even number in a
- single throw of a dice? '
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: (1.14) T w < 3 7er Praeh anTen gt A 37

How many prime numbers are there between zero and
twenty? ’

: (1.15)3:5, 5: 7 3R 7 : 9 &1 ba srum s Hifsw

Find the compound ratioof 3: 5, 5: 7 and 7: 9.

: (1.16) DOTS 1 ol & F1 22

What is th¢ full form of DOTS?

: (1.17) STE AT FB7

What is Ashtanga Yoga?

: (1.18) UNICEF W U& Hftg feuquft farRaw)

Write a short note on UNICEF.,

: (1.19) ToTifsg o ! Tora fawa 7 Tee qeesr e ore

In which subject did Har Gobind Khorana receive Nobé}
Prize? '

: (1.20) -3 3 dex iR T 3 T T

Give the names of Lander and Rover of Chandrayaan-3.

: (1.21) S ghgmar =0 27

What is Artificial Intelligence?

: (1.22) ‘gie &I 58 wea ¢

What is a ‘hot spring’?

: (1.23) STt % YRl wid W o 9 8

What do you mean by conventional source of energy?

: (1.24) SETETTE HgE TE 41 ol Bee (JNNSM) & T 331 T oy

When was Jawaharlal Nehru National Solar Energy
Mission (JNNSM) started?

: (1.25) 39 mEdT = R?

What is Biomagnification?
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; (1.26) T~Ie SEIRd T 87
What is Montreal Protocol? ‘

: (1.27j $-9% R 7

What is e-waste?

: (1.28) 39l eI Sl i HeaAT = R 7

- What is the composition of upper continental crust?

: (1.29) Y et St gRATRE ik

Define igneous rock.

: (1.30) STaTél W Ht g Hif)

Define an aquifer.

. T I H 20 FERH I0-TH 7| T I 6 I g SeH oG HHl 50 g/

5 ¥ 6 dRFT arft welt o svfaw ¥ Wl WA.05 (Ui) ST W R
' (5x20=100)

. This question contains 20 short answer type sub-questions.

Answer each question ideally in 50 words/5 to 6 lines. All
questions are compulsory. Each question carries 05 (five)
marks.

: (2.1) 3T U9 % IUF T AU Hifv

Describe the uses of a ‘convex mirror.

: (2.5) T & B - F Taq TR S §1 59 TR g 21 I Y

gl 7 i St 71 whafsra @ 1 dwe 7 W HRm

A ruler drops under free fall. The distance travelled by
this ruler is 21 cm. Estimate. the reaction time in
seconds. |

: (2.3) NH, T @39 &R 31 BF, U 938 37 79l 87 AT

~ Whyis NI;I3 a Lewis base and BF, a Lewis acid? Explain.

: (2.4) e ot % swam ffaw)

Write the uses of bleaching powder.
4
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: (2.5) 919 % YN (werTd)’ | wh fewht e

Write a note on ‘endosperm’ of plant.

D (2.6) TR T wWIodl ® 87

What is health and hygiene?

L (2.7) Wﬁmﬂﬁmﬂiﬁﬂw 87

What is the primary memory of a computer?

: (2.8) ™ W mﬁw@?ﬁ%?tﬁmﬂaﬁﬁ%@mmﬁw

Fa Frenfea s 27

What are machine independent languages? How is a
code written in such languages executed by a computer?

: (2.9) A AF TR I SFIATTNG 15 78 A1 g1 A o7 i oy

60 =4 B, o i 31y T8 hfvrg)

Aman’s age is 15 years more than three times of Ravi’s
age. If Aman’s age.is 60 years, find Ravi’s age.

: (2.1@@@&%@& 10% =t T1ffss g & gfg St 31 =i sweht

A SEEE 20000 B, @2 Y TvEnd gt hl e [ ik

The population of a city inecreases by 10% annually. If
its present population is 20000, find the population of
the city after 2 (two) years.

1 (2.11) T sy fisA (NAM) o us wfiw feoroft R

Write a short note on National AYUSH Mission (NAM).

: (2.12) 9o8 TiferT Sehrehtor I TiEW Fui i

Briefly describe Pulse Polio vaccination.

: (2.13) “TIFR’ % W1 ¥ wfeqw faawor €fom)

Describe briefly ‘TIFR’.

: (2.14)wmmgmﬁi}ﬁﬁmﬁ‘mﬁaﬁww’%wwl

Give the names of ‘Rashtriya V1gyan Puraskar’ awarded
by the Government of Indla

5 ' [P.T.0.
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9T ¢ (2.15) “TRUTRHT 319 0TS, ot 56l %! Tl B T TEHH &l Hehdl 87 W
T qigw fomoft faRag)

Write a short note on “Municipal solid waste can help
to reduce energy purchase”,

T (2.16) “EHIH TP-Fel e W, 2025 W wh widg Roasft ferf)
Write a short note on ‘UN-Energy Plan of Action, 2025’.

T (2.17) TRl e ® s aim fof fafeg

Write a short note on Environmental Ethics.

T : (2.18) Tl 3T 1 §7 W F SR 1 ANEH 87

What are sacred groves? What is their role in
conservation?

¥ ¢ (2.19) A3 Avereq H guie hifv

Describe greywacke sandstone.

S ¢ (2.20) Tiig S & R W T R fif)

Write a note on the distribution of iron ores.

Y ;3,39 WA H 10 §d IuiE I9-TE B| U T % W B NS Ieg HAT
200 g 3] |t v e €] wees T 11 (WRg) FR @R (11x10=110)
Que. : 3. This- question contains 10 lbng answer type sub-questions.

Answer each question ideally in 200 words. All questions are
compulsory. Each question carries 11 (eleven) marks.

: (3.1) W'TW%? w%%&a@waﬁﬁﬁmﬁqqaaﬁ%aﬁﬁ
R @ ==t i)

What is energy? Describe its different forms. Discuss
renewable energy in detail.

' (3.2) mﬁﬁqm%maﬁam%aﬁwﬁﬁwﬁﬁm

Explain the postulates of Bohr’s model for hydrogen
atom. '
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S : (3.3) WS WTew i Framt i Rrem & =t B

| Discuss about the natural plant growth regulators in
. detail.

F : (3.4) Hw@amtﬁ%mmmﬁnﬁw%?

Why does a Governmient use soc_lal media?

L v

- W : (3.5) T e ferwon i sgerh w1 it -

=i s | 25— 30 | 30— 35 | 35~ 40 | 40— 45 | 45-50 | 50 - 55
e Y0 53 42 42 38 36

Find the mode for the following frequency distribution :

Class interval | 2530 | 3035 | 3540 | 40—45 | 45-50 | 50 —55
Frequency 20 53 42 42 38 - 36

T : (3.6) Wiephen fuferear 1 foega avi ik
_ Describe Naturopathy in detail.
W : (3.7) Tre @R w R0 wEEm $ R W gl wiiewr diw) fue
TR ISR Y e = 27
! : What is remote sensing? Give its classification based

| | on scope. What are the ranges of remote sensin
g
t } _application?

T : (3.8) WA % AT Holl HEIsHA T ThT SIferq)

Give an account of India’s Nﬁclear Energy Programme.

I : (3.9) ﬁaﬁrﬁaﬂrm&mﬁwm%? wwaﬁn&ﬁawmwm
TWE?

: What is meant by blodlver81ty conservatlon? What efforts ‘
l : have been made at the National level in this regard?

|

|

f ‘ T 310)%%@%%%@3‘1@@:@1%1
f‘ | ' Explain brleﬂy the theorles of the ongm of the Earth.
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